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Question Number : 1 Question Id : 7512365121 Question Type: MCQ Option Shufilingy: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following lists:

List-1T List-11
A)  Triticum I) Anacardiaceae
B) Lvcopersicon I) Fabaceae
C) Mangifera IIl) Poaceae
D) Glvcine max IV) Liliaceae
V) Solanaceae
Bod Do vigohdo Bohod.
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Question Number : 2 Question Id : 7512365122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The six kingdom classification proposed by Carl Woese included Bacteria,
Archaebacteria, Protista, Fungi, Plantae and Animalia.

Reason (R):  Carl Woese divided six kingdoms mto 2 domains using 16s rIRNA.

g (A): 5OSR s Terge 888 WarHomd. ®d wr§dalowy,
&?&&wé@oﬁ)om, 8, 30ozren, &) en, BodPHeom DTow.

580 (R): s Targosh 57050 16sTRNA & ¢ Brfiod Soth s [Hadrereor
defBoar . g

The correct answer is ‘\/

5BG0S HEPTEB Q//&
O

Options:

Both (A) and (R) are true, (R) istie correct explanation of (A).
(A) 08050 (R) en Bodor 3. (R) @38 (A)d J20&0S JS58ea.
] Z,
Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 200050 (R) e Bodor 5883082, 570 (R) 9386 (A)H S80S 58 5°8%.

(A) 1s true but (R) 1s false.
(A) %0086, 59 (R) 8086 5.

(A) 1s false but (R) 1s true.
(A) 505056 595, 579 (R) $0&0S8.



Question Number : 3 Question Id : 7512365123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following :
List-1

A) Sutton and Bovert

B) FEW.Went

C) Hargovind Khorana

D) V.S.RamaDas
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List-11

Identification of Auxins
Aurtificial synthesis of the gene
Role of chromosome in heredity
Discovery of zymase

s2g8%

Contribution in C, photosynthesis
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Question Number : 4 Question Id : 7512365124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fusion between one large, non-motile female gamete and a smaller, motile gamete 1s
called

“3::&3.’?.63:6{1 Hed gird E\g HoRrN NSNS’ SSU5Y Hod JoRBrideo HoRriko BoLEr
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Question Number : 5 Question Id : 7512365125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Small specialised roots called coralloid roots are associated with N,-fixing cyanobacteria
m

Fderond 38 wdad WD, HBEIS I8 SGad FIS Tdbie dchSoriddres
e85 QIS Jolron.



Options:
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Cedrus
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Question Number : 6 Question Id : 7512365126 Question Ty, Cab Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verti

Arrange the following m order of the; ‘?ﬁu‘rence (from top to bottom) in the regions of
the root tip Q/

L  Region of maturation ,@

II. Region of elongation
III. Region of meristematic activity
IV. Root cap region

SHES Dodere dhoth o |Foered (D Hod 18ohs) Shdmr wddod.
0BBS |Progo

t—1

IL 2dH 200 @rodo
M. Dzf2s 280 (@rodo
IV. 3&H&sm fo |@rogo

The correct sequence 1s

HOGS [EH00



Options:

I I, I, IV
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Question Number : 7 Question Id : 7512365127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List - I ins?
A) Cypsella I) ,Jaclfiuit

B) Schizocarpic U%/Sﬁ*fdax
C) Caryopsis @ ce

D) Composite fruit @D Acacia

Bod JGZod mé&rdt}oc%:%
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B) 50§ IT) (BE8)
C) g3s5dH=8o M) 58
D) Jod@rsdeoo IV) e@sdalr

The correct match 1s
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Question Number : 8 Question Id : 7512365128 Question Type: MCQ ptfoléwuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In Calotropis, the aestivatio gﬂd to be valvate.
Reason (R):  Here the sepals or petals 1 'horl just touch one another at the margin
without overlapping. ?"

agmg (A): 3SR (e&@%ﬁoéﬂa $0208 PQES Eorosndor TH2kos.
5800 (R): 2.8 5&:0‘6&00{&§§é@°w Bor e digren woibe ¢ &8 LEmrIFTES

WETGR0 FPHOT Hodrow.

The correct answer 1s

SISIeS SIS LA N VY

Options:

Both (A) and (R) are true, (R) 1s the correct explanation of (A).
(A) 58050 (R) ev Bodr S80I, (R) 938 (A)d S0&0sS Jdden.



Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 508050 (R) &0 Bodsr 50860352, 570 (R) @386 (A)So 50508 S8 5.

2.

(A) 1s true but (R) 1s false.
. (A) D850S8, 579 (R) D0&088 s26.

(A) 1s false but (R) 1s true.

(A) 05088 570, 5 (R) o086,
4,

Question Number : 9 Question Id : 7512365129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In flowering plants, both male and female @1‘5 may be present on the
same individual, called “dioecious” or pl'e%‘r separate individuals, called

“monoecious’’. (\ﬁ
Reason (R): In flowering plants, the unisexual #ale Tlower 1s staminate, i.e., bearing
stamens, while the female 1s pi@e, 1.e., bearing pistils.

@,

Fspg (A): D)o Ik &7, PG 5@ R DTy o8 30§, D <oB BgdomFed

28 03, 3o g FRD D5)83 Do 8’ R HE 0.

s8wo (R): JoBRog e Sp0W Sr@d §85 280089Q) DHHAD{0" @,
o &8 T 53“& OS5 I ,5_30 DR’ ¥ Yoird.
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The correct answer 1s
H0GS DBrEES0

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(A) 308050 (R) o0 Bodr H0503. (R) @38 (A)so D008 dd8e.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 00050 (R) &0 Todr 5063082, 570 (R) 9386 (A)%o J050S IS8 5.
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(A) 1s true but (R) 1s false.

(A) $0&058, 50 (R) 505056 5.
3

(A) 1s false but (R) 1s true.

(A) F8G088 5760, 572 (R) $0R086.
4

Question Number : 10 Question Id : 7512365130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A typical angiosperm embryo sac, at maturity, 1s

Doge eS5)BDs DoUsHo J0IERSS” @0&@? Hotnod

Q
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8-nucleate 7-celled Q/v
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Options:

8-nucleate 8-celled

8-80|85~cd0ed 8-Fegren

7-nucleate 7-celled
780|857 0308  7-Eearen

Question Number : 11 Question Id : 7512365131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In which of the following plants. hydrophily 1s a common phenomenon

ol DE)E) I ST ‘wedT Hodd 0 FFrde GTEE koo

Options:
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Question Number : 12 Question Id : 751236513 &1 Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori : Vertical

Identify the correct combination®of the plant with the family it belongs to

Bod DEYS) TBST I K o°I8 KGNS dowodo Ko Fotwowo &&) TAD Kfowod
Options:

Gloriosa superba - Liliaceae

A Orar ST - DO
1. #2 ¥

Lycopersicon esculentum - Fabaceae

FEDYYSS Dy Tododd - FBV

2.



Phaseolus mungo - Solanaceae

DODBrOD SVoh® - FOID

Aloe vera - Fabaceae

@St Jov - Fan

Question Number : 13 Question Id : 7512365133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The floral formula Br, Brl, %, L? s Ksys Crias2)s Aoy+1:G1 belongs to
& DR Vo800 @ 3008 Ko 58839086 Br, Brl, %, @{5],C1+2+@},A{9}H,G;

Options: &
SGE(TFHHH I’Ifg."h‘i"}i @

PO J(T°O @
1
Pisum sativim J
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Z.
Allium cepa
@doo D
3. EE
Withania somnifera
, DT F) PO

Question Number : 14 Question Id : 7512365134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :

A)
B)

0)
D)

8ol

A)

B)

O
D)

List-1

Amyloplasts

Elaioplasts
Aleuroplasts
Leucoplasts

S8 méwq)oc%.
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The correct match 1s
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(D)
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List - 11
Colour less plastids of varied shapes, sizes
with stored nutrients

Store proteins

Store carbohydrates (Starch)
Store oils and fats

Store carotene and xanthophylls
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Question Number : 15 Question Id : 7512365135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the following biomolecule :

Bod D&Y E) £ wenHdo HYoHs.

i
| |
R~ E-0-CH 5 @
| [ Q
CHL,=0=C-R, v

The above biomolecule 1s
DS DEYS) B w0 Q/?“
Options:
,{o

Triglyceride
IRJAENICISEY G

Glycerol

AdoreS
>,

Phospholipid
. @fsﬁ‘b On&



Cholesterol

80T S
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Question Number : 16 Question Id : 7512365136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct combination of statements.
L  During leptotene, chromosomes become gradually visible.
II.  Nuclear membrane and nucleolus do not reappear in Telophase I of Meiosis L.

III.  Anaphase II does not begin with simultaneous splitting of the centromere of each
chromosome in Meiosis II.

IV.  Prophase I 1s characterised by appearance of bivalent chromosomes as tetrads

Meiosis I.
DOTNS Foows e Trgmgeon Mfodod. cb
L B85 choth FardSen Eor 8052w Q)
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SosEdelo i SodsroTen t:—.aoégdﬁ%’}Qa oo 1e5° 80A EQDoWD).

L
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O

Soddd I doden 5°80. %
IV. Z3808 Fardrsoen Bgronde % 208 T $& ASrdd IS0 D &F 1
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The correct combination is: &
DO Seons:

Options:
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M H58c50 IV

MTandIT
III 080350 1T
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TandIV
1206050 IV

TandII
1508050 I

Question Number : 17 Question Id : 7512365137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following cell-type 1s not dead at maturity in angiosperms?

eS8 Herd o S0bdS Sead8o HoydEeo 5 Q)
Options: QN
Sieve tube elements Q/

TOATE SorosTen Q//&
O

Phloem fibres @

FRE Bt Tden Q/?~
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oSy areren

Xylem fibres

oo Jeden

Question Number : 18 Question Id : 7512365138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : In monocotyledons, vascular bundles do not form secondary tissues.
Reason (R): Inmonocotyledones. cambium is absent in vascular bundles.

Fgpg (A): EEY Dere®, TS Hoaren BB SwErerody JETBD.
s800 (R): QBEE Dered”, fad 8059 S¥5Pors STH0s.

The correct answer 1s

DOGDS JBrTED0

Options:

Both (A) and (R) are true, (R) 1s the correct explanation of (A).
(A) 00050 (R) e Bodr $88085D. (R) @3&:&)&3 HBST0S DS5Ye.

1

Both (A) and (R) are true but (R) 1s not the cqn‘& explanation of (A).
(A) 506052 (R) o0 Bodr 903052, 57 (R) 036 (A)s $050S dSb 5.

2. O@
(A) 1s true but (R) 1s false. @
(A) 203058, 570 (R) ﬁa@@ 5°¢%0.

3. %
(A) 1s false but (R) 1s tl,"}-.

(A) $0&058 5%, 52 (R) H0G058.
4,

Question Number : 19 Question Id : 7512365139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : “Adaptation’ for coping with environmental extremes is defined as any
attribute of the organism (morphological. physiological, behavioural) that
enables it to survive and reproduce in its habitat.

Reason (R):  Plant adaptations have evolved over a short evolutionary time and are due
to changes that occur in genetic material during acclimatisation.

g (A): 2D T srHod” DHHKER, HEgHBE S'E\E (dedrd dowod, B8
$8) 20208, [PIGS Sood) vFrol, ®ILEre VOPH O S IT VS
wdiroTom JEAoT . |

580 (R): & 2B 20T oS’ Irdw S 308 © VNBEFOT O HOE"O¥
2 oS’ m}lea{é Bomrow.

The correct answer is g
HOGHS BErTSE0 Q‘\/
Options: (L

Both (A) and (R) are true, (R) 1s the t explanation of (A).
(A) 08w (R) oo Bodr S8 ) 938 (A)Bo DS JHea.

Both (A) and (R) are true but (R) 15 not the correct explanation of (A).

(A) 508050 (R) e Bod@r@oéi}. 5 (R) ¥38 (A)%o 58808 dS58ed 5.
2.

(A) 1s true but (R) 1s false.

(A) 583088, 570 (R) 383088 8.

(A) 1s false but (R) 1s true.
(A) PBSWISH 57, 20 (R) S0&0Ib.

4

Question Number : 20 Question Id : 7512365140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify a combination of ecological adaptations in xerophytes.
L  Cuticle 1s totally absent.

II. Hypostomatous and sunken stomata in some plants.

III. Root caps are usually absent.

IV.  Well developed root caps.

Q0 30§ o ot s wdhiroTwn fo Soonid) hjolod.

L 55886 (0derdd) Jrom Sy

I J@dorren J@e wgerdy $80S" Hocin dl0ds J@dores BQ) 308 S
QOO0

M. 3H%H&%H Fgdmom S ot Holnod

V. orm 0958 T8 &b

LOGN =

Options: @&
Tand I Q
1508050 11 @

I and IIT &Cg

The correct pair 1s Q@

. I S08c50 I
Mand IV
T 508050 IV
=]
Hand IV
508050 IV
4,

Question Number : 21 Question Id : 7512365141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following in the pathway of water movement in the root.
L  Cortex

II.  Epidermus

M. Pericycle

IV. Endodermis

I cdhoth B KM Jodod §od FAQ v ok
L Sepeodwn

IL  erdrgusdyson
O HosEsw
IV. wodfg ks

The correct answer 1s Q'/&
ﬁ&@afﬁ AT 5 @Cj

Options:

L IL IV, I Q,v~

.1 1tv .

2.

o LIV

=

I I, IOI, IV
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Question Number : 22 Question Id : 7512365142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Potassium ion (K") performs which of the following functions in plants?
It 1s involved 1n protein synthesis.

It helps in photolysis of water during photosynthesis.

Essential for the formation of chlorophyll.

Maintains anion-cation balance.

<agRBR7

Required for pollen germination.

308 S Firadho wairS (K 205 d¢hen & §od T0eS° 2

L @83 503d08" rdSdo

I 88easdy SoRrHBoh dhodh 5°088° A& DHBE JTFADBdL0
I 8§65 wmd Z)éq)d‘écéoei" RWELS (b

V. s38rs-sboirse dDHdogs SIrnHoHs

V. Sdofdsnden Inesdaosd &

The correct combination is @C)
LOTS Soows:

o P
- &éo
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1

I ITandIV
IT, ITT S08030 IV

2.

L ITand T
I 11 58050 IIT
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Question Number : 23 Question Id : 7512365143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Glucose+ ATP Hexokinase > Glucose — 6 — Phosphate + ADP

Reason (R):  Enzyme which catalyzes this reaction belongs to enzyme class “Transferase”.

Tgpg (A):  KoSE+ ATP 508 fss 6. sty + ADP

5280 (R): & 8¢ ﬁ@gaoﬁ ANBD PIrPOE @R ISR SHBE BotoBod.

The correct answer 1s (b
JOGH DEFEHI Q\’
Options: %
Both (A) and (R) are true, (R) 1s the dect explanation of (A).
(A) o003 (R) &0 Bodr S0 (R) @386 (A)5 $0508 dS8ea.
1. v
Both (A) and (R) are true bl?(jffs not the correct explanation of (A).
(A) 56050 (R) @0 BosAR8E05. 2 (R) 036 (A) $8G0d D580 5.
2.

(A) 1s true but (R) 1s false.

(A) 205058, 50 (R) H85058 5°6.
3

(A) 1s false but (R) 1s true.
(A) DBGRS8 57, 572 (R) 205088,

4.

Question Number : 24 Question Id : 7512365144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following co-factor 1s required for splitting of water in oxygen evolving
complex associated with the PS II in green plants during photosynthesis?

HIHI I ST 8GadgdoRriBod ok ‘wims by dofjo PS NI &
wodorRotad A 35{;(6:583{’ GHIRFHIR DT EESD 87?7

Options:

Mn

1.

Fe

2.

= I\/Ig g
, Cd ‘\,QN
A

Question Number : 25 Question Id : 7512365145 Question Type': ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :  C, plants show greater pr tvity of biomass than C, plants.

Reason (R):  Leavesof C, plants hav?@tauz anatomy” where bundle sheath cells lack
Rubisco enzyme. As@ 1lt, C, plants lack photorespiration.

Fgg (A): C, 308 e C;&égr@ 08 QY H BHBHGT? woHRESH Srazo0.

s80 (R): €308 S’ 5708 0odd)om 00 §& o)) &b Serven’ S,
ASB0 S0 Holrow. & sEmon C, IuF) oS’ 5708 THHED
€050,

The correct answer 1s
PO HEFEH B0

Options:

Both (A) and (R) are true, (R) 1s the correct explanation of (A).
(A) 005w (R) oo Bodr 38518, (R) @38 (A)B 10808 dSden.



Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
. (A) 00050 (R) o0 Bodor 250608, 5°Q (R) 938 (A)B0 J050S ddder 5.

(A) 1s true but (R) 1s false.

(A) PBIB, 320 (R) S0S0S8 5.
3.

(A) 1s false but (R) 1s true.

(A) %0&058 520, 52 (R) H0G088.
4.

Question Number : 26 Question Id : 7512365146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Match the following lists : cb
List-1 List - IT Q\/
A) Decarboxylation
B) Hydration
C) Dehydration
D) Oxidative decarboxylation

Fumarate late

inic acid to o-ketoglutaric acid
On of citrate from OAA and Acetyl CoA
e to Cis-aconitic acid

BB~
o
3

% etoglutaric acid to succinyl CoA
&
& Bod @B u8IG048. %

538 -1 538 -1
PDg0dE Dod $rS8E
e5)S" H8)IE esivo ol o-8° Kreros edoo
OAA 58050 2286 CoA ok 2B $asrd
D@0 0ol VRISTILE 00
0-8¢5°Hrer0E wdo fod $§E CoA

A)  &-5on8)BES

B) $x088d»

C) gOECmS

D) «§)E8w0-a50n8BAS

szE8*

The correct match 1s

D050 =

Options:
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Question Number : 27 Question Id : 7512365147 Question Type: MCQ O
Single Line Question Option : No Option Orientation : Vertical

I

I\% | V

?@ng : Yes Display Question Number : Yes

With respect to oxidative phosphorylation, the cgrtect combination of statements 1s

L

II.
1T
A%

Cytochrome ‘C’ oxidase complex con ochromes a and a,, and two cobalt

centres.

Cytochrome ‘C’ 1s a small mobile é@on carrier protein.

Oxidation of NADH and FAD e rise to 3 molecules of ATP.

Light energy 1s not utiliz% /the production of proton gradient required for
phosphorylation. &

‘w8§¥¢eo @‘-@DE}E‘}‘J&S* Do HOGS Tgpge Swows J6?

L 28 C «§)adS So8lo choc e E'a0 a, 0005w a; 5000 Do §erg
Solren Hodrow.

I 3695 ‘C of 08) dogs T8 FES

. NADH %:0ci0 FADH, © es§88emo So 3 ATP wenden dairdHeromn.

V. 508 ¥)08i3S" F&BBARH 5dodd Ferd $5=d )88 o878
& 03 N0 8o,

Options:

ITand I

1 [5060%0 11



Mand III
, 1508050 I

Mand IV
. I S08a50 IV

HandIV
. M H58650 IV

Question Number : 28 Question Id : 7512365148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ethylene 1s a simple gaseous plant growth regulator.

Identify in which of the following the ethylene 1s syntl in large amounts by tissues?
L  Senescence (\/
II.  Ripening of fruits &

M. Actively growing apices of stems and 1‘0@
IV.  Cell division promoting activity @

AOS f JE¥RS TR ErdoS, %E‘oﬁgy Dol Jchogso. Enmrers’ 6
2DREDVE, IHOS IBS ‘%m 0&® dozaowadBos KHfoos?

L &g A

I  Soren D80 BoBlodyd

Il srodo $08a5» I& oo DOR Fden

IV. %00 Jass (Wohod S8

The correct answer 1s
2O DEFEHB0

Options:

TandII
[508cs0 IT

1



I and ITT
) 558050 T

MMand IV
2 I 508050 IV

IVandlI
IV 506030 1

4

Question Number : 29 Question Id : 7512365149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists : (b
List -1 Ql “Wast - 11
A) Photoautotroph q/ Xanthomonas
B) Photoheterotroph éﬂ) Rhodopseudomonas
C) Saprophyte O ) Bacillus
D) Parasite @ IV) Chlorobiwum

- méée:&’w 288rd 0k,
,{o

S8E -1 588 -1
A) 5083000 Fusew ) arodAroo
B) 508 d8Faswn ) J&Eors&sEras
C) IrésddHen o) aroe®
D) SoodRen V) &6@abo

The correct match is

DO =8

Options:



4,
Question Number : 30 Question Id : 7512365150 Question Type: MCQ Option Sh : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ‘\/

YV

QQ’
Q
&
e



Match the following lists :

Bod &S SGES 288008,

List-1
538 -1
A) | ‘
B) %

D) OO

The correct match 1s

DO =8

Options:

((/?‘ )
,{O

V)

Lambda phage

O s

Adenovirus

©BSFED

HIV
TR.0.4.

Bacteriophage

wéacﬁf >



@& @ © @D
@A @ © @O
@& @® O O

@ ® © O
, I VvV N 1

O

Question Number : 31 Question Id : 7512365151 Question Type: MCQ Opti ufiling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a Mendel’s dihybrid cross, homozygous, domin t,(lazfud, yellow seed parent was crossed
with a homozygous recessive wrinkled green ?e%parent. If the round seed shape (R) 1s
domuinant over wrinkle seed shape (1) and y eed colour (Y) 1s dominant over green
seed colour (v), what 1s the expected per e of obtaining F, progeny with wrinkled
yellow seeds in the F, population m theSghybrid cross? No linkage 1s there between the

two genes. Q/?“

oHS 20d &rdo8dELm0 @Jwéoﬁa S Do, HWY Igos® e &I en
2T) 238 Joog) & SHFdH b RS, vHIE) oo voddd JETe
238 I8 08 Ho888Tw0 BBIK. Ko ddgsrew (R) Ko ofpmo Snddes 368 oo
(1) 2 2irddo. H0x) Sgoss® Ho dgSo (Y), eI doid fo d&lo (V) D 2irddo
@008 Fraargrd”, Sndden H&S Hi0 Sgos o F, S088 dgmre do H0o808800s”
Qo euirowdu)? STrond & Tok adgde Sy S,

Options:

Approximately 19%

o) 19%



Approximately 56%

, T 56%

Approximately 33%

, T 33%

Approximately 75%

, TR 75%

Question Number : 32 Question Id : 7512365152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following trait was not studied by Mendel 1n his work?

G
Q;\f
B0l &N S80S’ Fodd WSS S‘ﬁcﬁﬂt/ & Bwyok?

A
Options: OQ/

Seed colour @
JesNo o
1, = J

Stem height ,@
5P080 )

Flower colour

Qyo ot

Capsule shape

4 98 &5 do

Question Number : 33 Question Id : 7512365153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



With respect to DNA synthesis, identify the correct combination of statements.

L  Always the direction of DNA polymerisation is 5' — 3' when referring to the polarity
of strand being synthesized.

I. DNA ligase forms hydrogen bonds between two newly synthesized DNA strands.
IMI. DNA polymerases on their own cannot initiate the process of replication.
IV. DNA polymerase can catalyse polymerization in both 5' — 3'and 3' — 5' direction.

DNA %0288 0020800 0508 Jrgpge Swondsh Hiowkod.
L S $03hes” $idro K000 D0)Ydd, DNA FOSTEES Jodyde 5 — 3
JDE Jodwod.
I &gm Ho3ie BodhdS DNADFSe H$gs’ DNATAS 7@ aS 2o ol 2816808,
I DNA 9508w ddodd edorr DNA H8580 S8 nidd.
IV.  DNA 95588, 5'— 3' 50808 3' — 5' Tod ForQyLEde & @\0do Dobiiod.
Options: Q\'

I I and IV v

) I, I 08080 IV O@

TandII @
, 150800 I Q/v

Tand ITI &%

] [S0805x0 I

Mand IV
. I 5080500 IV

Question Number : 34 Question Id : 7512365154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :
List-1 List - 11
A)  Erwin Chargaff
B) Frederick Griffith
C) Alfred Hershey

Transforming principle
Nuclemn

Ratio between A and T and that between G and C
are constant, each equals one

B3

D) Colin MacLeod IV) Biochemical nature of transforming principle

V) DNA as the genetic material that is passed from
virus to bacteria

Bod DHYEX 288rG)0b :

2838 -1 2838 - 11
A) 6I2 6D ) $038S Rrpoddn

B) &8 09
C) «S@& b

S8 (\9

WEIR &ZJ}Q@‘?)JS DEgio NG, M
53:3060.& P o ddydien AgRo. B8 NG

agés@zmso.

D) 505 5-608r& V) & D08 EIFTAS BeErSS0
om0 BN BdgdTgo DED Sood eaﬂesiaoﬁaﬁaéo

Q/ RIZoso
9

The correct match is &
QOGN 2

g B

Options:

@ @ © @O



@ ® © @D
I I m V

Question Number : 35 Question Id : 7512365155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The structural gene in a transcription unit can be said to be monocistronic
or polycistronic.

Reason (R):  In eukaryotes, the monocistronic structural gene has interrupted coding
sequence - but the genes in eukaryotes split. The coding sequence or
expressed sequences are defined as exons. Exons are said to be those
sequence that appear in mature or processed RINA.

g (A): w8 JoErd)E aly Poredn ehBplso o IrIHTIS S
FOVZIET Bwdod.

5280 (R): QeSo|t BHos® 5?55?»3@555 ATy %65@@3 wodoroSred Eréd
5088 Edros® Jotron. 5 aﬁgg 29’ 2dogher D&SELO

(split) Hodnod. J08ED) @?éﬁpm S g8ty wEsrelo

‘AR 0 ok, H0H8c BN EQ00T ¥ VHEIrOI DR v

D0, @

The correct answer is Q/
ISTeTon VN IPS PN DU RPN PUNN) ,@
Options:

Both (A) and (R) are true, (R) 1s the correct explanation of (A).
1 (A) 5008030 (R) &0 Bodr $8508. (R) 938 (A)B 8808 JS5Ye.

Both (A) and (R) are true but (R) is not the correct explanation of (A).
, (A) 508050 (R) o0 Bodor 383303D. 570 (R) 038 (A)so S80S Jh5des 5°80.

(A) 1s true but (R) 1s false.
] (A) 205058, 570 (R) 505086 s,



(A) 1s false but (R) 1s true.
, (A) 2038 50, 577 (R) Soghsa.

Question Number : 36 Question Id : 7512365156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Restriction endonucleases cut the DNA molecule at specific sites.

Reason (R):  Exonucleases remove nucleotides from the ends of the DNA like that of
endonucleases.

Tgwg (A): &@}5‘5 Qo0& Srg8 Todewo DNA weoHd 3858 @“ma'ﬁﬂ: FdoHen
2B S oW.

800 (R): ISHdrg8doder, DNA o Srg8Srdsod Jod'drg§dhie I8

& OATTow. g
Q‘\r
The correct answer 1s (1/

HBS HITEHBD Q’/&

Options:

Both (A) and (R) are true, (R) 1s Cém‘ect explanation of (A).

(A) 8050 (R) o0 Bodkr a&?&xa. (R) 36 (A) 28508 IS8,
1.

Both (A) and (R) are ‘rme,@R) is not the correct explanation of (A).
_ (A) $8as0 (R) 00 Bodr 58352, 50 (R) 038 (A)8o $0g0S e 5.

(A) 1s true but (R) 1s false.

(A) 565058, 5°9 (R) 505058 5°%.
=

(A) 1s false but (R) 1s true.
(A) RO 57°¢%, 570 (R) S0G0Sb.

4

Question Number : 37 Question Id : 7512365157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A cloning vector should possess which of the following characters?
L  Orgin of replication (Or1).

II.  Ability to destroy the alien DNA.

. Cloning site to link the alien DNA.

IV.  The tumor inducing plasmid Ti.

V. Selectable marker.

VL Low molecular weight.

§U0A 2YITA8 SHATHIE TTEo H80d TS 2 ol §9A Gowd?

L 28858 TS0 (Or1)

I &owah DNA & &ddo Dodorio Foggo

Il oo DNA & Seodiosh o §Q0A @gcﬁa (b
IV. &orgdobio (@on0B Tiad&en \/
V. Q008 Bohdy 5086 &(1/

VL 8595 wmogrdo Q@

The correct combination is @

D030S Swows: Q/v
Options: &%

LILIV,Vand VI
LILIV, V&8cin VI

1

LII Vand VI
, LI, V 58050 VI

LI, T and IV
- LIIL T S08c80 IV



I I IV and VI
IT, I, TV %3850 VI

4

Question Number : 38 Question Id : 7512365158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Bt transgenic crops are more tolerant to abiotic stresses.
Reason (R): Bt toxins are coded by 'cry’ genes.

g (A): Bt 25558588 Hobosh 22550206308 S&os SLRFS rdogso
QB I Jolnod.
s*80 (R): Bt &r§ oo ooy’ a2yl Sosdo.

The correct answer 1s :\,

HOGS BETEHB v

A

Options:

Both (A) and (R) are true. (R) 1s théﬁec‘r explanation of (A).

(A) S8 (R) 0 Todir 5653ED. (R) 636 (A)Ss 56538 D565,
1.

Both (A) and (R) are true, %is not the correct explanation of (A).
, (A) 508050 (R) e Boéﬁ‘é@@oé& 5 (R) ¥38 (A)% J030S D80 5.

(A) 1s true but (R) 1s false.

(A) %05058, 50 (R) 985056 5.
3

(A) 1s false but (R) 1s true.
(A) 205058 57¢%, 5 (R) Sog0la.

4

Question Number : 39 Question Id : 7512365159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following :
List-1

Pusa Swarnim
Pusa Shubhra
Pusa Sadabahar
Himgiri

A)
B)
O
D)

So&
A)
B)
O

D)

T D00
o DE
T DT0T6
T 0N0

TPAQ 238D 8owsad0.

The correct match 1s ,@

ﬁ@@aé 238
@ ® ©
. I V 1T
@ ® (©
N 1T [\Y I
@ ® (©
IV I II

=

D)

ET

(D)

\%

(D)
I

szE8=

List-11

Chilly mosaic virus
Bacterial blight
White rust

Black rot

Hill bunt



@ ® © @O
\% I I I

Question Number : 40 Question Id : 7512365160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Silencing of a specific mRNA due to a complementary short RNA sequence that binds to
and prevents translation of the mRNA is called

@858 MRNA & &) S0:r68 RNA 50 Sod odhaod) A8 Goddo So & mRNA
Silence ©HKod. &) DHotrd?

Options:

RNA hybnidization
1 RNA D088

RNA complementation

@&
RNA 5709300845
o S"’Uﬁ OElodow C)

RNA mterference @

- RNA 5588800
,{0

RNA splicing
) RNA%JE:UH

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Species is a breeding unit.

Reason (R): A species 1s reproductively isolated from the individuals of the other
species.
s (S): & ¥ DRSS (B0

580 (R) : 2@ BS FHOR Dol LI PHEHE VS WEB)NE.

The correct answer 1s

SISIeS S IR SIS A PNV

Options:

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
. (8), (R) ew Bodhr 2003082. ()& (R) 90G0& dS8eo.

Both (S) and (R) are correct but (R) 1s not c@ﬁt explanation to (S).
, (8), (R) &0 Todsr 380l 571 (S)-ﬁ)@. 8B DHBed 550,

(S) 1s correct but (R) 1s not corre S()

(S) H053d 570 (R) a@cﬁmﬁ

(S) 1s not correct but (E}&Cﬁﬂnect

(S) 585056 57 50 (R) $6853056.
4.

Question Number : 42 Question Id : 7512365162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The diversity within a particular area, community or ecosystem 1s called

@8 Q0Q @odo, ddreo B dardde SgHRS R IDTEA) HJGom Lewdrd.

Options:
Alpha diversity
. S Emﬁgo



Beta diversity

, AL IDEg0

Gamma diversity

mao® S50
=3

Delta diversity

Rer IDEg0

4,

Question Number : 43 Question Id : 7512365163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

<9

Set-1 Q7 Set-II
A) Acoelomate &(k Earth worm
B) Pseudocoelomate @ II) Acomworm
C) Schizocoelomate @O 1) Tapeworm
D) Enterocoelomate IV) Round worm

Q/?‘
8B ¢ aémsom:m{?

238 -1 2838 -11
205 - 1

A) @38 TSo D S53rS0

B) g $0850rdo o) 5756 56,
C) 58 $685:80 M) =3 HSoikd

D) wo@ $655%550 IV) Koogd Bt

The correct match 1s

STeJos V-1

Options:



A B € D

I I m N
A B C D

I || S \Y I i
A B C D
M I N I
i B & D
3 m N 1

Question Number : 44 Question Id : 7512365164 Question Type: MCQ Option Mng : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Q

Match the following:

A) Astrocytes I) ement of cerebrospinal fluid
B) Ependymal cells Ayelin sheath around axons of CNS
C) Oligodendrocytes $ Myelin sheath around axons of PNS
D) Shwann cells Q/ IV) Formation of blood - brain barrier

808 T 2EBSHS0. &%

58¢ -1 538 - 11
A) sRpLoe D Sopd o 859 8508
B) J%0&%08 Eoren I Sogad B§IPS” So@s o Wby
[ocHdx >8
C) wdFBoE DL o) 58605 o 5§IRS” SoBFFe W
JocHh O >Y
D) S Seorew IV) &%o-308k 0is'ed) ddydanewn

The correct match 1s

QOGS e



Options:

A B = D
1 vV I I I
A B C D
, II I T vV
A B ® D
. \" I I il
A B & D

1T I I

4.N (b

Question Number : 45 Question Id : 7512365165 Question Type: MCQ Ojiticn Snuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical %

Identify the correct statements with refer
First metazoans to exhibit tisi ¢ Jevel organisation.

ce to Cnudaria.

loblasts.

Contain stinging cells calle
Reproduce only by sex %f)rﬂ duction.

0N w e

Development 1s ]'l’ld].]% and mcludes planula larva.

A

QBOCRB Dow0fod V0TS Trgpgosd Bokok.

A 2 Swwro Fon o) BHEGD I adue BYoo.
B. 2 FJaorlen oF Sy forod §O0 eoiron.

C. 2D Boh§ Hégd8 oo SrEd PGB 2tHe ow.
D. &dho orordo 808 H5°E @@5&%.

Options:

A &C

1



A&B

A&D

=

B&D

4.

Question Number : 46 Question Id : 7512365166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set -1 Set - II
A) Tornaria I) Neometra
B) Brachiolaria 1) OBalanoglossus
C) Pentacrinoid @\' Holothuria
D) Auriculania & Pentaceros
1808 TEQ 23SJRET0. @Cj

2838 -1 v 238 - 11
A)  &d)pc & DBror

K2

B) r8ikr800
) Dotrgaand
D) 0538005

2E8°
3
%
5

The correct match 1s

Q0TS 2

Options:
A B k¢ D
II I I vV

1.



B
I 1T I IV

Question Number : 47 Question Id : 7512365167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following characters:
a.  Aquatic (marine and fresh water) fDI‘l?i/Q\/
b.  Body scaleless &

c.  Cartilaginous endoskeleton @

d.  Renal portal system absent @C)

80& wfrew ﬁ@%@oﬁ@é.@v

A 2o (S50, WS@(Q@ £Heo
b. Qdrdn deddn Sirdgo

C. X)JJCSJE.F% oS00 ¢s @méwﬁa@?ﬁamdﬁo
d SHodS E), AoeTE S5

The above characters are found in

D ofren IBST GoLrow

Options:



Chondrichthyes

SCTEEE

Hemichordata

1@‘“&1&?@&3

Cyclostomata

LR

Cephalochordata
DPSETYL

4 \9

Question Number : 48 Question Id : 7512365168 Question Type: MCQ Ofti guffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical &



Match the following:
Set-1

A) Chelonia

B) Rhynchocephalia

C) Crocodilia

D) Squamata

1808 TPEQ 238580 00.

58 -1
A) PHSIH

B) 0608 2ardo%
C) 55ado%H
D) &g

The correct match 1s

QOGS 28
Options: &?
A B &
, vV I I
A B C
- | I I
A B i
, I \Y
A B {
I I\% II

Set-1I
Sphenodon
Hemidactvius
lestudo

Gavialis

S838*



Question Number : 49 Question Id : 7512365169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The communication tubules of flagella which connect the basal granule to plasma membrane
and nucleus which can pull and alter the orientation of flagellum are

S5 380 800, So$E0S’ O, ETer ) riiridn, BT srA) Srd)idn FReTS'

[

éoag ::mg& J€Een.

Options:

Dynein arms

A wTven
1

Triplets

2 %
Doublets Q’}
O

B NE JrE s

Rootlets Q/v
. SQTPET ) &%

Question Number : 50 Question Id : 7512365170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:
List-1 List-11

A) Bmary fission I) Unfavourable condition
B) Multiple fission I) Nuclear reorganisation
C) Sexual reproduction 1) Favourable condition
D) Conjugation IV) Genetic recombination
1808 TPEQ 2385 80Tn 0.
238 -1 588 - 11

A &or NG ) Kasre D00
B) advg a8 II) @@% DGy SR80
C) Bods Heégsad \Eﬂé@m@ D00
D) doodaryden @/&ﬁ% 23808 YN:dodBredo
The correct match 1s @O
HORD 28 ((/v
Options:

A B & &
, X 1T IV I

A B C D
, NV I il I

A B C D

I I v I

=
2 w
H 0
—



Question Number : 51 Question Id : 7512365171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

List-1 List-1II
A) Parasitic Castration I) Abnormal increase in the size of the host cells
B) Neoplasia II) Increase in the number of cells of the host
C) Hyperplasia II) Degeneration of gonads of the host

D) Hypertrophy IV) Abnormal division of the cells in the host tissues
leading to cancer

V) Abnormal increase in the size of the host

B0B D 2SBK B 5.
598 -1 588 -1
2 ) «&83on oo b’@@oes“‘ LITE wdide
B) Qoo ) ©édow Sere QOIS Lo
C) r56do% M) wsdon Hps'sé &RORFIHL
D) a0 V) &9@&3%&@0&3" gere OO el So

?&b@&cﬁw&.
D030 S” WTT e wdde

V)
The correct match 1s %Q/
&8@35 23¢é8 &

A) JITHES T RAES

Options:
A B ¥ D
. Vv I I I
A B C D
I J\Y Il I

\Y I 1T V



=
<
<
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Question Number : 52 Question Id : 7512365172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The process of ‘exflagellation” occurs in which one of the following stages of the life
cycle of plasmodium?

3 A8 S50 oI PEch TAHE0Ho £JE FEOSTR & SFST H0gfAd08?
Options:

Sporogony
. ST AL

Erythrocytic schizogony

8880 Jpodd 1dS0 Q//&
O

Hepatic schizogony

Q/?‘
5000 Ao 2ds0 %
3. &

Gametogony

DeEeS°S\g

4

Question Number : 53 Question Id : 7512365173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The tranquilizer which 1s normally used as a medicine to treat mental illnesses and often
abused is

& 808 TES’ SrdvE 758 NV8HS' T HOARTHDGHNT WT 0S50

Options:



Barbiturate
20 E00¢
1.

Amphetamine
ITCRIRE ]
z.

Lysergic acid diethylamide
. BI85 Bk BHPOWIE

Benzodiazepine

. Bo" e 0w

Question Number : 54 Question Id : 7512365174 Question Type: MCQ Opti ffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Periplaneta americana, there are three pairs of jamted walking legs. one pair attached
to each thoracic segment on the ventral sid 1 leg 1s made up of five segments or
podomeres arranged serially. Identify the sequetice of arrangement of podomeres from the

base to the tip.

DOFIET @DOFTT S oy 28 %ﬁ@ ) w88, 28 K8 IE Ppoddy &lidwos”
@88 < oirow. 3*‘?156 srene @l S podSren &odrro)n. rdodst 8prdo SHod

©otHITH GOt VBGHS Poberw ©HBE SHD EIrQ) wolodk.

Options:
Tibia = tarsus — trochanter = coxa — femur

GO = LrdiR = (EsTolb = 557 = 2b
1.
Coxa — trochanter — femur = tibia — tarsus

5°57) = (E5°5°088 = @08 - BAr = Lrd)R

z



Femur — tibia = coxa = trochanter — tarsus

2308 = 8HOSr = 5757 2 5o = LD

Tarsus — tibia = femur — trochanter = coxa

)R = BASST = 8 2 E5°sT0Lb 2 5
4,

Question Number : 55 Question Id : 7512365175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The principal muscles of respiration in cockroach are

eﬁ“goﬁi{ ;’mg;:mg@_aé TR Bodorew:

O)
Options: N
>

Ventral longitudinal muscles

1

GOS8 eodé Bodoren Q//&
| @)

Dorsoventral muscles @
DYFES Sodoren J
Alary muscles &

D558 SodkTren

Abductor muscles
) WHSIE odoren

Question Number : 56 Question Id : 7512365176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : The image formed in nocturnal insects is called superposition 1mage.

Reason (R):  The superposition image 1s a clear image.
Fsog (S) : T80 SLERS” AR E8Aowo drHb FRAS Hé&dowo.
&0 (R) : 28 8 HRPS P8Howo.

The correct answer 1s
DOGS DETH B0
Options:
Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S), (R) ex Bodkr $883082. (S)s0 (R) éa@a%?;scﬁea.
Both (S) and (R) are correct but (R) 1s 1’10(}%‘&& explanation to (S).
(S), R) @0 Bodr H0B083 57 (S}@'f{) DO DB TS0,
: O
(S) 1s correct but (R) 1s not cﬂnﬁ&

. (S) $85058 2 (R) @acﬁa@?s:ab

(S) 1s not correct but (ésxs correct.
(S) 585058 5% 52 (R) HOFBKH.

Question Number : 57 Question Id : 7512365177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : The water flea Dap/inia exhibits characteristic head shapes during various
$easons.

Reason (R):  Cyclomorphosis is a seasonal adaptation to changing densities of water in
the fresh water lakes.

Fspg (S): TL6 @ ‘@Pad I Teores’ VG do uieols @HE8RYo8.
580 (R) o Erd B SEH)ST HHSre S 00 B Fosess
WSEre S H0.

The correct answer 1s

2GS DETETHH0

Options:

Both (S) and (R) are correct and (R) 1s correct qﬂauaﬁou to (S).
(S), (R) en Bodkr 5853052. (S)s (R) ﬁa@ S8eo.

1

Both (S) and (R) are correct but (R) @ correct explanation to (S).
(S), R) &0 Bodkr H0GSS & (R) 5066308 D56 5°6o.
2,
(S) 1s correct but (R) 1s incgéct.
(S) 585058 5 (R) 56 5.

3.
(S) 1s incorrect but (R) 1s correct.
(S) 505058 5% 5 (R) HGoSB.

4

Question Number : 58 Question Id : 7512365178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements with reference to special adaptation to aquatic habitat.

A Fresh water fishes have large glomerular kidneys and salt absorbing chloride cells in
gills.

B. Marme fishes have large glomerular kidneys and salt excreting chloride cells in gills.

C.  Marine fishes have aglomerular kidneys and salt secreting chloride cells in gills.

D. Fresh water fishes have aglomerular kidneys and salt secreting chloride cells i gills.

2O BITD @’aéﬁ wDErOTOR J0208008 TP’ JBS FTEI HNododk.

A 50008 Blew DY IEEITIT D) r@ghomen, InNed” odwrod ol
§0& Seorodo 8OA wolrron.

B. 230 Bden DF IEEITEs ) Sor@lomren, Inded' ol IVYE §B6
gerodo §OA Golrown.

C. 250 Tden 8883598 i idird Sr@lome, 3%&:&3* odeoren PIoB §B6
gerod §OA Golrow. Q\/

D. %0008 Jden $§8i59s Dfdord S ﬁ:n(c;lfra:or SoNeS” wdmrod PIOR

585 Serodo A Golrow. @

Options:

 A&B @

&
A&C
> ,@

B&D

>

C&D

4,

Question Number : 59 Question Id : 7512365179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct combinations.

A Ozone Layver

B. Green House effect
C. Acidrain

D. Eutrophication

A

A L8c &8
B. 588 Ky @erdo
. 83 S0
D. cSrEsasas
Options:
A&B
1,
C&D
>
B&D
3
A&D
4

88 FoE¥JoPho ook,

U‘v’?
Methane
SOr2

Algal blooms

Blurred Vision
El-nino effect
Photochemical smog
Ageing of lake

00 2788 65;)3&
QE5-AT Werdo
5708 SFPoHd S

i

Slefob)) mgago

Question Number : 60 Question Id : 7512365180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following organs acts as haemopoietic organ in the foetus and erythroclastic

organ in the adult?

& B0 adads widhTrod® & Doddis® Jf $Hfe\dE vidhdom, | PddIS”
AP G880 DN wdchidom DIVH0H?

Options:
Bone marrow

QN8 doFrens

1



Liver

S o500

2

Kidney
538,
, So°UC

Pancreas
g 500
(45}

4

Question Number : 61 Question Id : 7512365181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A sigmoid curve is obtained when percentage saturation @uoglobin (Hb) with oxygen
1s plotted against the PO ,as indicated below : Q

V

38233, bﬁ:ﬂﬁjé’.ﬁ (Hb) &° &oB Sody) T3 /%2&3 35800 S Op ADSIYd 2.8
DTG O & Bod wrad ddomr Ao

S

23 9

fEE: E & If a patient who i1s a hypothemlit.: with a body
R temperature of 30°C, the curve shifts towards
2 3 wE B0 vo) GRAESE o8 oSm 68 SIS
o 30°C wondHsd @ 3§ S & PYSK Do
= . T Bododod

£ o

S S

D=

£ 3

T 5

e —> PO, (mm Hg)

D o

Options:
Curve shifts to the right side due to less affinity of Hb with oxygen.
23*3?5:2".)5 s8ued wdwogo Sico J9 S O BoEIDE ITV0 Vo 0d.



Curve shufts to the left side due to hugher affinity of O, with hemoglobin.
s§ias TIETASS” vhwodo WEKEC 5o JE Tp EIYE dTHo Bocddob.

2.

Curve will not shift either to left or right.

SE T AENIDBT o BEIY M TR0 Wolkd.

=

Curve becomes straight line instead of sigmoidal.

S8 O DYoo G DT H0E° I8P SrB0d.

4.

Question Number : 62 Question Id : 7512365182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following: N
Set -1 Set- 1T Q
A) Valve of thebasius

Gaurds left a}illo tricular aperture
B) Eustacheanvalve

Gaurds the g of coronary sinus info right atrium

Non fupetitual in adults
Gaurdsight atrioventricular aperture

808 TBD wEHGWEN. Q/E

C) Trcuspid valve
D) Bicuspid

zgs*=

588 -1 %@5% 5l
28 -1
A) FB2aHD Lo 'ﬂ) DE50 §p5 2EOS CoEEd) 8800
B) o‘inc‘{);ﬁoﬁoﬁ gardoo 650 §'¢ 8o Bk §5§e.5* BEHIDETI SolE) 88008
C) &g g0 ]]I) T¢ 2Hes® Solrdirdomr totood
D) &o¢g sardo IV) %& 885 2805 Sogra) 88308

The correct match is

DOV e

Options:
A B C D
I I \Y I

1.



2
A B C D
. I I I IV
A B C D
I 1T I vV
4

Question Number : 63 Question Id : 7512365183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following features best suits to a healthyy/ normal individuals urine:

V

e85 g 50N/ FTEeI0S Sg8 fnyl\éoeﬁ*q/ G & (Bod eFeonoen:

Options: C)
Dark yellow colour; pH : 6.0: 9@?1{20 10% urea
S00808 Hido ok pH:@?E)U%KJ&J, 10% G605
1 ,@
Pale yellow colour; pH : 7.0; 96% H,O, 2% urea, 2% other substances

B BB Sord; pH:7.0; 96% J8>, 2% ciordasor, 2% K88 Hrgren

2.

No colour; pH: 6.0; 98% H,O, 2% urea, 1% glucose
. Sgserdo; pH:6.0; 98% A&, 2% crdadsr, 1% Kr8'E

Pale yellow colour; pH : 6.0; 96% H,O, 2% urea. 2% other substances

B 320 Sord; pH: 6.0; 96% &, 2% cSaor8ass, 2% adss DT T

4.

Question Number : 64 Question Id : 7512365184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statement with reference to vomer bone:

D08 VR JB0ES Ho0HoAS BOSHS Tgpges Kgowod

Options:
It forms the bridge of the nose.

28 S08 ST TEH JBY0E.

It forms the upper jaw.

20 D BS5dS AYKH08.

It 1s a triangular bone present on the floor of m& cavity.

20 TVTRTC0 W/ Gdsde0es” ﬁ‘&@ﬂ;ﬁ)ﬁ‘?ﬁ DA0E.
3 &
It forms the anterior part of the pa @
W S FoGoE ) JOFRR0E.

&

Question Number : 65 Question Id : 7512365 estion Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Opfentation : Vertical



Match the following:
Set-1 Set-11

A) Alzheimer’s Disease [) Inflammation of the protective membranes
covering the brain and the spinal cord.

B) Meningitis I) Progressive disorder of the central nervous
system affecting motor movements.

C) Parkinson’s Disease Il) Rapid loss of brain functions due to
disturbance in the blood supply to the
brain.

D) Stroke or Cerebro-vascular IV) Progressive neurologic disease of the brain

accident leading to the loss of neurons and the loss
of intellectual abilities.

1Bo& T 23858at000.

588 -1 se¢ -1, O)
A) @%b Tgb ) sk %}F:{m S 8o Y
B) 3000889 1) 3{&3" $gH0 @HYS Edoom HEHD:
@ 5080 Pardo Babdo

C) e g8 Seoso 8o JEHTS” sbo¥o

QEBSIE Joddo Aghen Ko

Q/E §eBowsdo

D) @&§ 8o T@&@S‘—J‘*i“u%g@% IV) J0cddso BodS & Howol agd Edoom
OS8R oS D& HDosdo S T8 Eogren, RS
Fdoggo Sedouico

The correct match 1s

LOGS ud

Options:

A B C
I I 1T vV

1.

Z
—
= O
H o



Question Number : 66 Question Id : 7512365186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the hormones that regulate calcium levels in the human body?

A Calcitonin

B. Thyroxine g
C. Cortisol N
D. Parathyroid hormone ‘\/Q

A

SrSYQ BFoS” THI0 Fonod éﬁ@oﬁ S36° ool HBoHos.
A RS

B. 3o§o Q/?~

C. 59 &%

D. @T@Tm&% ?’.ﬁﬁiéﬁ

Options:

A&B
1.

A&D

B&C

C&D



Question Number : 67 Question Id : 7512365187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set-1

Set-11

A) Addison’s disease I) Deficiency of vasopressin

B) Cushing’s syndrome I) hyposecretion of glucocorticoid

C) Myxedema II) Over production of glucocorticoids

D) Diabetes msipidus IV) low levels of thyroid hormones in adulthood
§o® T wSISWB.

A) w&dS g8 ) oFEds SHho

B) &%oh doE'wo ) #Ar&sgsonbte ©S &8

C) §ddr ) #Kr&sgsronbe %é&e_ﬁﬁn

D) &oHBBD aSHNED V)

P §35°Q @)5 TE)0 vy Fowe

A

The correct match 1s

XSS @

@C’(o
Options:
A B C

D, N~
M 1N é((/
A

, D
I
D
I
D

B
II I 1T \Y

Question Number : 68 Question Id : 7512365188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements about T . cells.

They are CD 8" cells.

They recognize antigens through MHC class-II protein.

They recognize antigen-presenting cells and produce antibodies.

oW

They recognize altered-self cells through MHC class-I protein.

TC Eeore 80 D020500S S0 JTgpgod Hfothdw.

A 22 CD 8 gwoen.

B. 20 8- MHC @88 oo @8assross #garon.

C.  2d P88 d0dw oo Hon; PRI wé)d Baron.

D. 2d &rd) 068 ogoh e 5R-1 I\Ikg/%ﬁé.%ﬁ &go° o000,
Q

Options:
A&C &‘\/

1_ &
A&B @

. s

A&D &(g

=3

B&C

4.

Question Number : 69 Question Id : 7512365189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct sequence of passage of spermatozoa in males.
Rete testis

Epididymis

Urethra

Vas deferens

Seminiferous tubules

Vas efferentia

Ejaculatory duct

Urethral meatus

N -

8o

&4
g
3G
&
o
g
G
2%
o
g
[
E:
8]
&
&
X
o)
&
o
o)
(8]
&
&

o=

68 S0
IDBBRD

=

c. Pago

&
d HE oo @

e. DEFEE T v
f g >80 %Q/
A

g Jod T¥o
h oS b

Options:

a—-b—sd—ose—sc—>f—-g—h

esa—-f—-b—od—o>g—c—h
2

e->c—oa—>d—o>b—osg—f—h
3

d-b—osa—-sc—o>f-oe—-sg—h
4,



Question Number : 70 Question Id : 7512365190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the diagnostic procedure used to detect genetic defects in the embryo:

206EES” adog vdESrodn HBoRotE GIRrNoT KomRE wHIGT ) HiowNosk.

Options:

ELISA

1

Amniocentesis
es g)J:lO_T’HFoD ol

z.

Amenorrhea

O
©WI0IOB ‘I/QN

=3

| A
Sonography OQ/

S| D
4.
Question Number : 71 Question Id : 751236519%5&1 Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Ori ian : Vertical

A



Match the following:
Set-1 Set-11

A) Plerotropy More than two alleles occur at the same locus
on homologous chromosomes

—
S

B) Multiple alleles II) Expression of both the alleles m hetero-zygous
condition

C) Polygenic mheritance I) Multiple effect of single gene

D) Co-dominance IV) Single phenotypic character influenced by
more than two genes

Bod TPAQ 2S8I5Eoob0.

588 -1 588 -1
A) LSBT D JIdowrd FIrFooS o8 Fdo I
Bokogod 2B, oﬁ:aﬁéé’)gw‘be‘m odéo
B) a&v¢ cdoijdseryen M) D&ckh osoryess %Boc@o SVSHIR FOLLoRO
5508 & e@%§@oi§é§o
C) advady vhdodds ) &8 229 Perderody Srddo
D) {&2u-gédso IV) a8 H ofpdnd Todk Sod 89S

& e Perddo Bahdo
The correct match 1s Q/Q

é&@aé 2288

Options:

Z
H 0

= o ﬁU)\\S\



Question Number : 72 Question Id : 7512365192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following;

List-1/:5¢38 -1
Sex Index / ol Hr0E

A 1.0
B) 0.5

C) 0.67
D) 0.33

The correct match 1s

DOGS ad
Options:
A B ¢
I Vv II

e

wem&lle
@: )

List- 1T/ 5¢38 - 11
Sex of Drosophila /| &Foer dordrdo

Intersex

ééﬁa@oﬁ@
Met@
LTake I PN

Male
DR B

Meta female
@@@ 2D



11 I\Y% I I
3

A B C D

V v I II
4,

Question Number : 73 Question Id : 7512365193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements with reference to sickle cell anemuia:

A Due to point mutation ‘glutamic acid’ 1s replaced by ‘Valine’.

B.  Due to point mutation ‘Valine’ 1s replaced by ‘glutamic acid’.

C. Itis autosomal recessive genetic disorder and affects heterozygous individuals.
D. Itis autosomal recessive genetic disorder and affect@ozygous individuals.

Q

S VS WG B 02208008 HOGS Typsosd HOowSw.

- T

A Do &EPILS HO8or ‘TOS mwa@;&g@ BEEDB08.
B
&

(3]

Dot &SPBIES DOSom Hrtrdos " TOSK REERN0E.

Qs (F3rsS’o o°or DoFJod Qe
0Pesd. Q/

D. Q& '3’ o%or ﬁ&@zﬁ wodds alg wiYs: Ddodinie Jgsyen K0
WS S0,

& 20§ WIPS; DR oM Sgigen b

Options:

A&D

B&C

A&C

>

B&D

4.

Question Number : 74 Question Id : 7512365194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In the geological time scale, the golden age of fishes 1s

THog Todrs HBES' Ve drgoborsom BHywds:
Options:
Tertiary period of coenozoic era

2 E 00f SodtcsnKos @:Elf} oo

1.

Jurassic period of mesozoic era

D006 JoBcnKoes’d o oo

z.

Devonian period of palaeozoic era :\9
POBrE o0l SoFFANKoS R EIFAGHS @ﬁo
3. &
Carboniferous period of palaenzmé/
, POBrEonE SoFFainkios &azz]cﬁ oS0 o

Question Number : 75 Question Id : 75123651 estion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori tign : Vertical

Experimental verification of natural selection was performed by

©8)8 I6erQ) PRrEEoT GRE00RSITE

Options:
Augustus Weismann

WAPS DELrS

1.

Paul Kammarer

TS 5086



Hugo de Vries
2 Toght & D%

Bermard Kettlewell
, 36§ 3BSEIS

Question Number : 76 Question Id : 7512365196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct sequence of stages in the evolution of man.

A Homo neanderthalensis

B. Homo eructus

C.  Australopithecus

D. Homo sapiens l\c,b
E. Dwryopithecus (19

A
3038 D000’V Siw JBGDS é‘{éé&:ﬂ@ $08owsad0.
A SIS ES FTEYR

B. &%r J385 &

C.  gJgdasd &%

E. (#XBro880

Options:

A—-C—o>B—-oE-D

1.

EC%A%B%E%D
SE%C%B%A%D

4E%A%C%B%D



Question Number : 77 Question Id : 7512365197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Hisardale” 1s a new breed of sheep developed in Punjab by using the following breeding
technique:

TSRS o3 B8 PSS AP Homrand® & (Bod PRIS FosBESIH SHRrhoD
wPYE BT
Options:

Interspecific hybridisation

@Y 28 D08V

Cross - breeding
B8 (HedSSs0

o)
QY
Out breeding Q/
5 2rg D0RY) 00 Q//&
Multiple Ovulation and E111b1}’0®cn§fer (MOET)
DTV VOB Dotk wdd Q/

9

Question Number : 78 Question Id : 7512365195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:
Set-1 Set- 11

A) Prolonged P-R interval I)  Hypothyroidism
B) Shortened P-R interval I) Hypokalemia
C) Prolonged Q-T interval II) Delayed impulse from pacemaker
D) FlatT-wave IV) Tachycardia
8ol T8 238D Eotod0.
2838 -1 2838 -11
A) 0nS P-Rewoddo ) rFrgoondza
B) #8688 P-Rwoddo ) “TFsddooss
C) 20608 Q-Twoddo Ill) edirdodizo od DFGT e wodgnsEo
D) 3038 T-$50K50 V) érdsgoss

Q”
The correct match is &(1/
$OG0S @ Q/

Options:

A B C D @
i \% I 11 ((/v

Question Number : 79 Question Id : 7512365199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The first gene therapy was given for the deficiency of:

& 1808 S'rI8 InSBFOT 2ogdsd) Fobadod.
Options:

Adenosine deaminase

W&SHS AIE

1.

Insulin
2:00)9<

o-1 Antitripsin ,\9
o-1 esoddigdaye (19

- @sﬁmﬁé’bﬁ
(b

o- Lactalbumin é
e
v

Question Number : 80 Question Id : 75123652 estion Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Ori 10N : Vertical

Natural killer cells originate from

Dre oy Seren 28 S0k e d)dIo0.

Options:

Adipocyte stem cells
WEF VL orosaren

1

Myeloid stem cells

FTT0NGE Droserren
o



Lymphoid stem cells

DoaroNnG SoFredcaren

3

Endothelial stem cells

, DOEBONS Soroscoren

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 7512365201 Question Type: MCQ Option Sh : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify incorrect statement among the fol ng.

A

& (8o TS HBFKH 57 ¢ § ré(&m

Options: @

There are four fundamental foi¥es in nature.

REPS” Tk TP @“m €700

Conservation laws have a deep connection with symmetries of nature.

RoYE Ao PE)S Ry TITE S8R J020FW) 5O I op.

All conserved quantities are scalars.

@) Hod8s THen wHTD.

Some conservation laws are true for one fundamental force but not for the others.

§'Q) Q8gdg Qotodren . [@FEE purds chTgw 570 858 T88 579,
4

Question Number : 82 Question Id : 7512365202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



: - c :
The expression for the force is given by b+—, where ‘5" and ‘¢’ are some physical
[

quantities and ‘7’ 1s the time. Then the dimensions of ‘¢’ are

DB HEFOED b+ m 2B@EIE. R0HS® B Hook ‘¢ ¥ID O FT8E THen
I

208050 ‘F o0, wond ‘¢’ § deen

Options:

M°LT

MLT™ t\,b
4, @
Question Number : 83 Question Id : 7512365203 Question™ :MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation iC
An object falls a distance D from 1‘&5@@&‘[ travels a distance 0.51 D in last 2 seconds.
The time taken by the object to @1‘ he distance D is

A

Qom0 oD 28 I D drdo J&FH0H. 8 SR V58 2 DEIS” 0.51 D ddo
RoSre800d. wond D drdo Howerds S0 S8R oo

Options:
20
il

=
D

5s



iy
3
z.
30
— 8
7
4,

Question Number : 84 Question Id : 7512365204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A and B are the ends of a ladder in contact with a vertical wall and the floor respectively
as shown in the figure. Let «;, and v, be the velocities of B and A in x and y direction
respectively. At a time when the angle ABO 1s 60°, u; = 1 mv/s, then v, m m/s is

HL0S® Hrbdtnm, JeYHF'E, J08® HGHS® &l IFS ?@3 SSH™ A 0dcd5n B en.
Up 00050 V, 00, 1M x HOw y HFws” B H0d o Imen wdosod. ABO,

60° §°p0 oS 0 3G, Uy = 1 m/s ®ona V9 QS SN

e S
v
K2

Options:

3

1
ﬁ



&~

&

Question Number : 85 Question Id : 7512365205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The resultant of the two vectors A and B makes an angle o with A and p with B.

wall

Statement (A):  a<Pif |Al<

Statement (B) : o <pif |[A|>|B

Statement (C): o=p1f A

|
&

S
>
Both HBFes A $6ckn B o 20 26, A@e&o 0$r, B & S0 B & Bd006:

D380 (A) : o <P ®ond ‘A‘ ‘@
256 (B) - - @T

X (OF o=p @o,éq}i\ -|B

Choose the correct option
STSoRvhy PWSA) ~oToE 0d:

Options:

(A) and (C) are true
(A) 508050 (C) e dg0.

Only (C) 1s true
(C) Sr@0 d8g0.
Z.



(B) and (C) are true
(B) S08 00 (C) en d8g0.

=

(A), (B), (C) are all true
(A), (B), (C) ©y 2853

4

Question Number : 86 Question Id : 7512365206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ball is thrown at some angle with the horizontal and at speed 10 m/s. The speed of the
ball at 1ts maximum height H during the motion 1s 5 m/s. The magnitude of H 1s

(Assume g = 10 m/s?)

8§82 JDIrodlod’ Fod Feo VA, 3& 10 m/s I& o8 0@ AIVTR. & 008 Fodos®
&)y o 1% I8y H G 2008 5& 5 m/s. @ow Sore00

(=10 /s’ o ©%HE5H5) A

Options: C)Q/
3.75m @

Q/?‘
4.0m &%

2.

6.5m
=,

2,75 m
4
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A man weighs 70 kg. He stands on a weighing machine in a lift, which 1s moving
downwards with a uniform acceleration of 5 ms™. The reading in the weighing machine
is (Assume g = 10 m/s?)

28 5002 70kg © a6y Srihed. odtk, JE68 Sowo Sms™ & offSnpomr SOKS)
DYS® &) Y Srd cHoo RS Jvuderdh. wond e ddogo Sra §&or,

(g =10 m/s* ©d ©55F050)

Options:

70 kg wit.
70 kg 20809

35 kg wt.

. 35 kg 22809 (\9\9

86.0 kg wt.
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At a certain instant, an object is subjected to a force e [[4(})1 —(2.0) 7+ [9.0)!\1}1\1

while the object’s velocity is v = [—[ 2.0)i + (4.0) Jr] nv/'s . The instantaneous rate at which

the force does work on the object is

g A0 g0 IS¢ of SR INo -{f:[—(z_(}]h(zi_(}).{i]nﬁs GHDy, vh weo
F= [(4.0)7 —(2.0)+(9.0)k [N % 59008, 50938 & veo 53 Tb egs8s du,
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A 4.0 kg bundle starts up a 30° mcline with 120 J of N@c energy. The distance upto
which the bundle will slide up the incline. if the coeﬂi@l of kinetic friction between the

V

bundle and the incline is L is &
o &
28 30° rendeonsd 8248 1201 8" oSNP0 kg o Sords Sdedo @rEodRod. Srdr,

1
T SerdE S0y KSes deo r’be:;-gﬁ — @oud Tredoow Hordy 8 s drdo
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Options: &
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10 m
3m

8m
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A uniform circular disk of radius R is used as a simple pendulum when suspended from a
point. The time period is T if the disk is suspended from a point on its rim. However the
time period is T, if the disk 1s suspended from a pivot pomt at r = oR from the center,
where 0 <o < 1. If T, = T,, then the value of o 1s

Fsrgo R do o8 2868 Syesd ), wf Do H0d JeordddISyed, T
e;?’maa‘é*tﬁom TETD. T wow RS wE VoY Hod DHDH JerdBLIDYE eSS
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A wheel 1s rotating freely at an angular speed on a shaft. A second wheel with twice the
moment of mertia of the first and initially at rest, 1s suddenly coupled to the first shaft. If
K 1s the original rotational kinetic energy and AK is the loss in rotational kinetic energy,

then & 1
K

w8 B0V, 8 §edodh S68° o Higo *@Dgzﬁq}r'r" @F0Aod. & J08E BB 2&S] 30578
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Consider a simple pendulum where a pomt n8g$,/m’ 1s suspended from a hinge with an
msulating thin wire of length °/’. Let there @DHH charges “+q’ each at the hinge and on
the point mass. The time period of oscillations about equilibrium for this

28 I Ho Heoodd mocﬁé&%, 28 Sen Hod Dodo BSgoed M’ Ko IrEhR™S
LIRS OE Q) BOKBoWod. & Seo I DO Do GEIgTInT WEYH S +q° Do
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erti
A simple pendulum has a time period %&n on the earth’s surface and T, when taken
to a height R above the earth’s 5111% where R 1s the radius of the earth. The value of

%T] s &%

gr GH0800 WE GHIYE a8 odns'olo T, ol edds serd) $80 wobd, T°AD
g &H08erd8 S R IG5 8308 IH3pd ol e3dS scoo T, 2§ d Rerdo Sng),
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Options:
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If a uniform steel wire of 4 m length and cross-sectional area 3 x 10° m” is extended
by 1 mm, the energy stored in the wire 1s (Assume Young’s modulus of the
wire =2 x 10" N/m?)

>Ey 4 m, mcégffﬁtbcs ITogdn 3 x 10° m? Ko 28 DEss &8, 8 1 mm oo
FREDSY %, Bries® BoRSBchg 48, (8K oHof MHeessn /2 x 107 N/mm edetesn)
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Options:
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A hot air balloon is rising upward with acceleration 2.5 m/s”. The ratio of air density

outside the balloon to that inside will be (Assume g = 10m/s*, Neglect the mass of balloon
fabric)

28 38O Bors, &¥mo 2.5 M/s* S il HFS® BSTob. wohe &F) MO FoBSEr,
Borsd o &8) MO FoEssr Ko IR (2= 10m/s’ed wHFHsn, Bors K
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Water is flowing with speed of 10 m/s through a pipe with cross-sectional area of 8 cm”.
The water slowly descends 10 m. The pipe cross-sectional area at lower level increases to
and [axlOS)N

1112 1112

respectively. The value of constant o will be (Assume the density of water = 1000 kg/m?)

16 cm?”. The pressure at the upper level and lower level is (1 x10° ) N

$o85HE FTogsn §om’ e ol Ao goe 10M/s S88° N BT RFos. & d& Jdnom
10m &rodood. §od Hoho & Ao Ry, mcﬁgaﬁ STogdn 16 cm” &0 DEMHS08. e
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A metallic bullet of mass 1 g is shot at speed of 100 ms™ into a wooden wall. The metal
has specific heat of 200 J/(kg-°C). Assuming all the internal energy generated by the
impact remains with the bullet, the temperature change of the bullet 1s

B3go°8 1 g e 28 S°rY oo, 3& 100 ms ' & B, FES*A8 YT, @ &5
DaFRo 200 J/(kg-°C). & 0ddrdo S0 &8 odhy w0ddE ¥§ vos N0k &'
©0L00&R wdR, Mo ePises” Soddy

Options:
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A steel wire of length 1.5 m and 3.0 mm” cross-section area at 30 °C is held straight
(but under no tension) by attaching the ends to two walls. The coefficient of linear expansion
for the wire is 1.0 x 107/ °C and Young’s modulus is 2 x 10" N/m?. If the temperature of
the wire is decreased to —10 °C, the total tension in the wire will change by

O

>EY 1.5 m, 6536 dProgo 3.0 mm’ feo wf ﬁ§?§ , " ol Dok Fdos
30°C $¢ dhodEo Tgo™ BHYT GoATW (70 ©& 2 SPSS S B). & 81 g g g8
foeego 1.0 x 107/ °C 00050 adofi ko 2 N/’ & &% eFsso —10 °C o
308, SRS Ingo S¥58S° KON oy O

p 240N Q/v
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A diatomic ideal gas is compressed adiabatically to — of its initial volume. If the mnitial
D

temperature of the gas is T, (in Kelvin) and the final temperature is T, the value of ‘o’ is

|
2.8 B0N8I708 B8 TASNIHR, T FO 0 V0Ir0S” — Sodhss RTRET Howdkdo
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An air bubble of volume “V ’& he bottom of a lake of depth “d’, where the temperature
1s T,. The bubble rises to the surface, which 1s at a temperature of T,. Assuming that the
bubble’s air 1s at the same temperature as that of swirounding water, the volume of the
bubble at the surface is (Let P, 1s the atmospheric pressure and P, is the pressure at T,)

a8 V" 080508500 o md 208, 576 ‘d’ 800, efid T, o D83y edbihs® ¢od.
& 20dh, T, edid fo &i0de ams B5008. RERS'A MO, HOJIT L I3 & (NS
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Two identical wires with equal tension 5 fundamental frequency 900 Hz. The tension
11

m one of the wires is increased b 1 order to increase the beats by 9 beats/sec.

. AT .
The magnitude of — 1s
aivisot i (D

QS 8358 T &° &0k, Both SKIZrT TS iio Erdans FS:9dgo 900 Hz. Idy0dTr o
9 DdyodTen/VER THT DoWE RS, ABSA 8 BHS'Q S5 AT @00 oA
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Options:
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A smusoidal wave of wavelength A has a speed of 350 m/s. If the phase difference between
two displacements at a certain point at times 1 x 107 s apart is & radians, then the value
of A 1s

880z g0 Ao a8 arg S18c% oo 3& 350 m/s 5O &ob. Q02 Do) I8, 5700
1 x 107 &S00 doe®, Bokd TS oo Sy 7 Po TIAGHE wond A Dend
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A converging glass lens of 40 cm focal length in air 1s immersed in water of refractive
index 1.3. The change in focal length of the lens is (Assumen . = 1.5)

glass

mdS® FEgoddo 40 cm Ko af wPFO mar o, S8ESS o 1.3 Ko A8S?
$00DT . & §LE TrgfgoddosSt EOT Sy, (N, = 1.5 ©d 08 sdn)

Options:
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In an interference experiment, third bright fringe is obt 'n@m} the screen with a light of
wavelength 700 nm. The wavelength of the light 50%&11 order to obtain fifth bright
fringe at the same point on the screen 1s (\/

A

28 55888 PHRrHod”, ddorigd go 700 nt %&*o@éﬁ, BERS Jordd GogdBoH HER
FodTH. 8 Dok ¢ ©B BERS © §8500H HYY FodwRs 50D 5708
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Options: %@
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Consider a horizontal sheet with charge density 5 x 107° C/m”. A particle of mass 8 x 10°°
g 1s dropped from a certain height onto this sheet. The number of electrons that should be

removed from this particle so that it stays close to the sheet without falling on it 1s

1
4re,

[Assume g =10m/s” and =9x10° Nm’C™ ]
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A non conducting wire 1s in the form of circular arc of radius R as shown in figure. The
two ends of the wire lie on x-axis and y-axis respectively. If the uniform linear charge

density on the wire varies as p(6) = p, cos @, the potential V at the center ‘O will be

(Assume V = 0 at nfinity)

HLOS” WrLIRT™, wl wITE 8K, Tgrgin R §OAS o8 Sy@sd wrdo Erdod® &ob.
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Six equal resistances are connected between the points A, B and C as shown 1n figure

below. If R, .. R, . and R, are resistances between pomts A - B, A-Cand B - C

respectively, then correct option 1s

Bod S HLo&" Sradinm s J5rd ATT oD dodhIheo A, Bdoddln C o Sl
§0n60. R,y R, $08ct0 Ry, 03D Scodm Dodoes A-B,A- C $odasw B-C o
g &oB ATTTB OGS oY)o,
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The current I, m the following circuit 1s

Bod S0 Sooded” Jdog@yarardn L
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Two mfinitely long straight wires carry a current ‘7 in the direction as shown in the figure.
For a proton of charge ¢, a distance d away from the wires and moving with a velocity ‘v’

along (— ) direction, the magnetic force on the proton is

Both vS08RS PEJYKO BHI BOS”, HLoS® WWrHd BFS® AddgEyTdro 17 otnod.
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A galvanometer having a resistance of 8 € i1s shunted by a wire of resistance 2 Q. If the
total current 1s 1 A. the part of it passing through the shunt will be

N&G0 8 Qe mers’ Ao, 2 QG G0 © .8 8KE B0l BobadsSs. Jogo JogEharero
1 A @028, %08 oo 3§) ddogdyTadro arifo,

Options:
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Consider three coaxial cylinders of infinite length. The inner cylinder carries current of 3 A
m the upward direction. The muddle cylinder carries a current 5 A in the downward direction
and the outer cylinder carries a current of 8 A in the upward direction. The magnitude of
magnetic field 10 cm away from the common central axis of the three cylinders is

wdogom FEY EOAS s JTE dnrodn J0HBotod. wodd dxrdo wigs HIS” 3 A
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Consider the inductor arrangement shown i figure. The equivalent inductance of the
arrangement between the points A and B 1s

BLOS® Sl (E5Pe ©H0E HorBosod. Dohder ASboin Be Hgy ¢o? wdl
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An inductor of inductance 0.2 H is connected in series with a resistance, a capacitance
| 4 ;
and an AC source of frequency EXIO Hz . For what value of capacitance, the current

will be maximum in the circuit

1
0.2 H (288850 Ko 8 (@05°Q) a8 50, a8 3rhdy) $odakn Fd:dsgo Exl(ﬁHz
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The electric field in an electromagnetic wave 1s given by ]:j:]E0 é.sin(ky — ort)

where k= k.é},. The magnetic field is then given by (e, é}, e_ are unit vectors along

x. v and = direction and ¢ 1s the speed of light)

w8 Ddogdahdr o SdoNod” DBagd Foso E =E,e sin(ky —at) & drdotndos,
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A parallel beam of light 1s incident ngrn¥ally on a perfectly absorbing surface. If the force
exerted by the light beam on the surface is 2 x 107" N in 10 nanoseconds, the energy of

photons hitting the surface 1s &
2.8 Q007088 5708 Yo VWOTY T8 GR0800 D VOO HBN0 Vothérod. ¢ GU0SL0D
&5 508 Pozo ELrd D weo 10 33 DEHes® 2 x 107 N wond, O08er) &5 %
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Options:
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Assertion (A) : As per Bohr’s atomic theory, the electrons revolving around the nucleus
do not radiate energy.

Reason (R) :  The angular momentum of orbiting electron 1s quantized.

RSEIB0 (A) 1 576 DS BETodo 5 Yo, Bo(E8o wotay a@@moé QoFglowo ¥ED

D880 WOD
580 (R) : 5" DO JoFS g8 o ?} segodEydo.

The correct answer 1s Cj@
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Options:

Both (A) and (R) are tru g{R) 1s the correct explanation of (A).
(A) 508050 (R) en Boé@@“géﬁ $8a%0 (R) 938 (A) %0 50808 5.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
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Only (A) 1s true.

(A) Soo83 desg0.
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Only (R) 1s true.
(R) &80 $eg0.
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In a decay process, given below, a nucleus X decays into a nucleus Y, a beta particle and

an antineutrino. X — Y +e+ U . If the atomic mass of X and Y are 175.942694 u and
175.941420 u respectively, then the maximum kinetic energy of beta particle will be

closest to (Assume lu=931MeV cz]

Bo& RIS &8 Fob EHEDHS”, e BoEiso XiBo¥o Y, (B) Dty 8o 5088w 08 Sy
£ 509%008. X 5 Y +e+0. X, Y o $85me0 @égm%@ﬂ:;&m 175.942694 1 53605
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For a transistor amplifier in CE configuration, the change in collector current and base
current are 1.5 mA and 10 pA, respectively. If the collector load resistance R, = 10 kQ

and the mput resistance R, = 2 k€, the power gain of the amplifier is

CE 2375508 g8 985708, 508 DSogidyTiro S’ Srdd), 85700 gy iros™d
Sy $6dm 1.5 mA $0c0 10 HA. 28063 88 $o Ry = 10kQ Sodcin 3% Q8°¢0
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In a standard half wave rec&r circuit using pn junction diode, if the voltage in the
secondary of the transformer i1s 12 V (a.c.), the average voltage (in V) output from the
circuit 1s

PR 08 ERBrED TES wf (FIrBE vf8bor JE 6 8B Sochod’, LryFrd6 B,
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The heights of the transmitting and receiving anten Spectweiv are h, and h,.
The radio horizons of transmitting and receiving a ‘Jlé@ respectively are 16 km and

SJ_ km. Identify the correct option. (Radius of K h = 6400 km)

Pr0d D00 (TIrE soBTe Jden Q}T‘* h, 50cin h, @ard8 SHdckn (rirs
0BT SESr §8aren SKdm 16km :{13 87/6 km oo ©6g08 25 hood.
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The amount of energy required for the conversion of H to H is 13.6 eV. The amount of
energy (in eV) required for the conversion of He™ to He*" is

O

H% H'r Srdoyodo soSeds 3§ 13.6eV. He'so He2+n'®%;}éa§a S0 #§ (eV o)
Options: &
212 C)Q/

40.8 @

Question Number : 122 Question Id : 7512365242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“No two electrons in an atom can have the same set of four quantum numbers™. This
statement is

“e8 DESFEY S 2 Dok AOFOORT 28 DS Ko T 57080 DoPgen oEErEE .
& Jadea.

Options:



Heisenberg’s uncertainty principle

e "’@53&§ ©IHSSe Q0300 S0

Particle-wave dualism of de Broglie

G5 Seo-S80K &0 HerSHa0

Schrodingers wave mechanics

(&b Sdor airol®8 TR0

Pauli exclusion principle

2O 585 drdo Q\?‘)
V

Question Number : 123 Question Id : 7512365243 Question Type: Q "@ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following l‘epresenta&m‘rect order of 1onic radiu?
Bod TES® wABFIE mg@%&éa@:é B57Q) BeoNIs A8?
Options: &

Mg  <F <Na" <0 <N~

Mg < Na* <0> <F <N*

Mg < Na* <F~ < 0> <N*

Mg <F~ < Na*< N> <0



Question Number : 124 Question Id : 7512365244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The atomic number of the element Unnilquadium i1s

Unnilquadium Sorr e85y S8 Hopg Dod?

Options:
102
1
108
2
114 O
3 Q\/
104 A
“' K
Question Number : 125 Question Id : 7512365245 Question : MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation :

The type of chemical bond p<é€ent in “CuSO,-5H,0” are

A

“CuS0,-SH,0” &° &) §3°0508 wo5re §5°en

Options:
Covalent: Co-ordinate covalent

S B3 0%; SHSRders) DB o
1

Tonic: Covalent

@Woirad; dBre0%

2.



Tonic: Covalent: Co-ordinate covalent

AR E; DB rEdoD; SHVRICeS JB0RBre30ad

=3

Tonic, Covalent, Co-ordinate covalent ; Hydrogen bond

VAITIE, VIR rRAcD, HH0SoH HHRBreIoh; T E RS 0o

Question Number : 126 Question Id : 7512365246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following molecules, the central atom has expanded octet?

808 wenYS® I BoE HESreIot ©Qs 9?’.‘:& cs0?

Q
b) CO, &
c) PF. &
d H,S0,
¢) BC, ((/?‘
Options: &%

b.¢ d

Question Number : 127 Question Id : 7512365247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Density of a gas at 27 °C is 5.46 g dm™ and the corresponding pressure is 4 bar. Find out
the density gas (in g dm™) at STP.

27°C $¢ 2.8 arofn Folise 5.46 g dm™ 558050 ©808rD Hesssn 4bar. STPSE T ai0d)
Fos (g dm™ o) S ErSed.

Options:
6
1.
|
2.
3.0
3.

O
q/Q'\r
A
4, @

O

Question Number : 128 Question Id : 7512365248 Question. T : MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver

¥
K2



For a van der Waals gas

8 JTo8b T T

a=45atmL’mol%. b=09L mol

(Vc _3b; P =— . T =—2 R-00821L am K" nml‘lJ

27762° © 27bR

Its critical constants T, P_and V _ respectively are approximately

R H08) porosmeo T, P, $:60%0 V, émﬁ@mymm

Vv

Options:
:36 , 04,54 @QQ/

v
. 18,0.2,2.7 &%Q/

, 273,1,224

, 99,00, 1R

Question Number : 129 Question Id : 7512365249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the approximate amount of Pt (im g) m 1 g of Mn, ,.Pt, ,.O

0052
[ Atomic weight of Mn, Pt and O are 55, 195.0 and 16 respectively]

1 g Mny Pty 0,8 $8) Ptdsrno (gos?) & 2Erdhm S5rsos.

0.05-2
[Mn, Pt 58050 O © H88rea groren S83m 53, 195.0 Sodasw 16.]

Options:



0.15
2)

0.1
3

0.25
4,

Question Number : 130 Question Id : 7512365250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The label ofa H,SO, bottle shows 1.4 g cm™ as its density. @late the molar concentration
(in M) of H,SO,. (Molar mass of H,SO, =98 g mol™) Q

vV

2§ H,80,5% 28 Ko 308 (label) m@@'&i{&g cm” i Benyod. H SO, oE),

3rerd mES (Mod®) 88 obod. (H,S0,® go°3 =98 gmol )

Q/v

K2

14.0

13.28

14.28

Question Number : 131 Question Id : 7512365251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following statements are correct for first law of thermodynamics?

a)  Energy can neither be created nor be destroyed, in an isolated system.

b) It is impossible to construct a perpetual motion machine.

¢) The total energy of the system and surroundings 1s constant.

d) Internal energy of a system can not be increased by performing work on the system.

GRA8E TR RED A0S Fod S0l QD HOGPID.

a) ¥ DIE Bo° 208 S5IPS” ¥4I HynowBBn $8ckn FrESo FobBHw.
b) ¥ 388 Jodo (perpetual motion) He cloE@ ) A8 0wWBEw.

C)  Bg5y Sodckn BOHoe Modo 7§ HEL.

d)  of S5 ©od0s 98, & S IV oW Hw.

Options:

a b c

ab,cd &
. QQ/

Question Number : 132 Question Id : 7512365252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In which of the followmg reaction(s) : K_ = KP?

8od @ Bg(0)s* 1K =K ?
(g=od80P; s =)

i) 2NOBi,, = 2NO,)+Br,,,
i) HaO(g) + C) = CO(g) + Hyy

i) Hyg) + 1y = 2HL

iv) Ny +3Hyq = 2NHy, O
Options: (LQN
(1), (11) ({,/&
= @v
(111). (1) &(0
(1), (iv)

Question Number : 133 Question Id : 7512365253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Calculate the pH at which Mg(OH), begins to precipitate from a solution of 0.1 M
Mg**? (K, of Mg(OH), = 1.0 x 107", log 5 =0.70)

28 0.1 MMg”™ m$esn 008 2 pH 3¢ Mg(OH), ©5850 Bodhes 8088087
(Mg(OH), @08, K =1.0 » 107", log 5 =0.70)

Options:



10.0

8.0

Question Number : 134 Question Id : 7512365254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the formula of the 1on formed, on addition of calgon to hard water

505 2erd8 TOPSHO §OBSYE D& wasirIE?
> :‘*} .

Options:

[Na,M P50y ]2_

1.

[Na,M P,0, |
=z,

[KzM Pﬁolﬂ ]2_
=,

[K4M POy ]2_
4,

Question Number : 135 Question Id : 7512365255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Sodium nitrate decomposes upon heating to give sodium nitrite. What 1s/are the other
product/products formed during this process?

Faobho PSR BETL5YE DArKo Bod FBcbo JBEH QuiyLo. & HEWS® GBS
WS (8AIreg0/|BOSTrET e0 DB/AD?

Options:

NO, O,
1.

NO, , O,
z.

O

3. 2
o V
4_ A

Question Number : 136 Question Id : 7512365256 Queﬂig@g dCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : V

What are X and Y respec‘riv@;he following reactions?

-X +H,0 £ 0 dibora&% ¥

§od F8gos® X Hodin Yeo 2?
X +H,0¢ 2 3585 ——>Y

Options:

. H,;BO,, B(CO),
_ H,BO,. 2BH,-CO

_ B,0,. BH,(CO),



B,0,. 2BH,-CO
4 -

Question Number : 137 Question Id : 7512365257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : S1Cl, 1s soluble 1n water, but CCl, 1s not.
Reason (R) :  d orbitals of Si facilitate the reaction with H,O

29850 (A) 1 SICl, DES* §8ot0a, 579 CCl, HBes*® §coricso.
580 (R): S165%Q d edyérey) H)O & 8580 95880hd.

The correct answer 1s q

JOGH HIFEH B0 ‘\/QN

Options:
Both (A) and (R) are correct and (R ’/Sle correct explanation of (A)
(A) 508050 (R) o0 $8505D £ (A) Boog), $8GS 58 (R).

1.

Both (A) and (R) are cnnégﬁt (R) 1s not the correct explanation of (A)
(A) S08050 (R) e $0gR$9, 52 (A) Gwg, 38508 IS8 (R) 5°¢.

(A) 1s correct, but (R) 1s not correct
(A) %05058, 2 (R) H05058 s,
3.

Both (A) and (R) are incorrect
(A) 0005w (R) &0 H8G08D 5.

Question Number : 138 Question Id : 7512365258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List-1 List - 11
A) Particulate matter I) Organic matter
B) Ozone hole II) NaClO,
C) Pathogen ITT) Smoke
D) Chemical Oxygen Demand IV) Water pollution

V) Chlorne free radical

808 T 283EHS®.

e -1 g - 11
A) §€a?£@ ﬁwga I) &%;&é ﬁw’gu
B) &#°Q doo NHCIO3

C) 50 usEsw m) 24

@&
D) &l edzs 0dddo &J IV) Q8 srendgo
V) 568 oo ([ FH6E
@v ™ rS ID L

The correct answer 1s ,@
DO HITEH B0

Options:



Question Number : 139 Question Id : 7512365259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The TUPAC name of the following compound 1s

Bob da ¥ TUPAC 28 \9
>
CHO

o

Q/ CH,
Options: &%

4-formyl-3-nitroanisole
4-570)5-3-IE° QIS

3-nitro-anisole-4-al

3R -IFS-4-65S5

3-methoxy-2-formyl nitrobenzene

3-D05) -2-8)6 IS BoES



4-methoxy-2-nitrobenzaldehyde

4-205r8)-2-3S° Bowrd ok

Question Number : 140 Question Id : 7512365260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The name of organic compound C,H, that produces carbondioxide, ethanal and methanal
upon treatment with O, followed by reduction with Zn/H,O is

CHy @3 868 dQ0¢80, O; & S8gmdod S8rdd Zn/H,0 & §c%édmo mosm
SHIREE)E, 2ETS $0cin WETSoH T T W JE?

Options:
Buta-1, 3-diene \(/))
) 20gérr-1, 3-B80 (\/Q

A
Buta-1. 2-diene Q/
O

woger-1, 2-3&S @
> ?‘

Cyclobutene Q/
K2

1‘@?3&3555
3 =7

But-1-yne

mgéﬁ-l-mﬁ

Question Number : 141 Question Id : 7512365261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following systems are aromatic?

Bobd TES® D IGErBE HgSHen?

D)

Options: v
A B &(0((/

A

2.

o]
4,
o

A D

=

B.D

4.

Question Number : 142 Question Id : 7512365262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List-1 List - IT
A) Polar molecular solids I) Positive 1ons in a sea of delocalized electrons
B) Ionic solids II) Covalent bonding
C) Metallic solids IIT) London forces
D) Network solids IV) Dipole-dipole interaction

V) Coulombic or electrostatic mteraction

808 B 2SB55%.

e -1 rder- 11
A)  (§o8 wen HoSSETen I) “i:angab DOFR DIVE0S” Y walrSen
B) ©dirdE doddmgen ) JoRr=dch 2060
C) & pddmge III) eooés weren g
D) wrof HSdarge V) &5@5—&5@‘555 BEgen

V) wm{j{g% 28 Dogd wI’gsg Wgen

The correct answer 1s C)

HOGS HHFTHB0 @

Options: v
A B Ul Q/

D \ A 1 A

A B & D
I V I II

B G D

<
2



Question Number : 143 Question Id : 7512365263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The vapour pressures of pure heptane and pure octane are 92 and 31 torr, respectively at
40° C. The total vapour pressure (in torr) of a solution containing 1.00 mole of heptane
and 4.00 moles of octane 1s

40° C 3¢ -ﬁxg 3:1%5 SoBosn ¢ @5}5&3 e DT SS%dm 92 S06csw 31 torr.

1.00 S s 08w 4.00 3rde wicew Ao ol (@) I0Eo rlywdso
(torr ©&°)

Options:

18.4

Question Number : 144 Question Id : 7512365 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option O& izn : Vertical



A plot of Vapour Pressure (V.P.) of two component system versus composition 1s given
below. The correct pair of x, and x, 1s:

Boaobol 5558 Goog) erdywddo (V.P) S0 Sodvbde (o Bod adt0dod. x; Sbakn

x, © $0& ag. (VP of solution = rded erdywdso, mole fraction = IS grio)

2

VP. of
Solution

VP. —

- — *r &
p C)Q/

v, =n—C_H ;xzu—CH

e | 6 14 2 7 @
1.

x—CA 2 —CH

z.

% =CHCl, ; &= CH3COCH3
>,

x,=C,HOH ; x,=CH,COCH,
4

Question Number : 145 Question Id : 7512365265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The correct unit of the slope given in the following plot for the strong electrolyte is:

|
[ a = (concentration )2 ,b = molar conductivity of solu‘rion}

208 Jogd JFHGD) Bod MRS Trendo DB Hdrerren:

1 |
[a =(mgsg)2, b= @30) Ireord mﬁmg@J

K(Cl

Sem? mdl ?‘
1
(11101 L_l)E Q/
; &%
.S cm” T

1
(mol)2

QD

. 3 i
S cm?” mol ™!
1

(11101 L’ )E




S cm” mol™

(11101 L_l)2

Question Number : 146 Question Id : 7512365266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. Inareaction, X +Y — Product, the rate of the reaction changes from 1 x 102 mol L s to
2 x 10~ mol L s when the concentration of Y is doubled. The rate of the reaction
reaches 8 x 107> mol 1! s7! when the concentration of both X and Y are doubled. The rate
law for the reaction can be written as,

X+Y - Bosrasgo, 658 Y mEss 380 DSk 3o 1 x 107 mol L™ s™ So0d
2x 107 mol L™ s & S0y Bosss. X 50850 Yo mcﬁ@ﬁ: 3E30%) Bd3YE $EgBew
8 x 107 mol L™ 57 & Bcodod. w585 e QoS5 o DSom TSy,

Options: &

Rate =k [X] [Y]

G

Rate =k [X]* [Y] Q/v

Rate =k [X]* [Y]

Rate =k [X]’ [Y]'

4.

Question Number : 147 Question Id : 7512365267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following correctly represent(s) Fruendlich adsorption isotherm?

Bob TES® AB/AD |Fro00dE whHTHEe DY Tp(e)d BuoHhdod/BenYeon?

TI
TE
a) x/m T,
T,>T,> T3
p
X
c) log.
log p
Options:
a. d
1,
d
2
d, C
3
b, c
4

Question Number : 148 Question Id : 7512365268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

b)

)
rl—|l
T2
x/m T;
T, <Ty=T;
p
oy
log p



Which of the following gases is responsible for making blistered copper?

Bod TES’ T8 5°H5 ST B8 S ERS TP V6?

Options:

CcO

Co,

SO

o)
SO, (\/Q\’
' A

Question Number : 149 Question Id : 7512365269 Question T @CQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Verti

What is the formula of the compound Aaii™ormed on adding Fe”" solution to nitrates in

the presence of conc. H,SO,? Q/
me H,S0, d5080es* Fe?* & L:'é&ﬁ@éwaé EODS Y D)o B0 BN0/TIPS Fe
87?

Options:

Fe (SO,),

1.

[Fe (H,0),]°"

2.

FeCl,



[Fe (H,0). NO)I**

Question Number : 150 Question Id : 7512365270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following compounds undergo disproportionation reaction?
Bod ST 0SS D WIS By MmIoWaEE ow?

a) H,PO,
b) H,PO,
¢) HP,0,
d) H,PO,

Options:

a b c

Question Number : 151 Question Id : 7512365271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List-1 List - 1T
A) Manganate ion I) Bond angle 126°
B) Permanganate ion II) Covalent green
C) Dichromate IIT) Paramagnetic
D) Mn,O, IV) Diamagnetic

V) Tetrahedral

808 T8 28HEHS®.

A T | rHa- 11
A) 3008385 ©@05rS I) &ucﬁfmu 126°
B) 070836 ©osrs qﬁ/ﬁ SBol5 e
C) BEDES ({,} ) 5o wohHd,od
D) Mn,O, OV V) gosr wobdm, o8

The correct answer 1s ,@
SISISS VSISO IO

Options:

H
=
=
=



Question Number : 152 Question Id ;: 7512365272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The formula for the compound Hexa ammine Chromium (III) - tetrachlorocuprate (II) is

D0 F850 ey wos F'avcio (1) - B §76° $o(d (1) Swog), Frdoer

Options:

[Cr(NH,) J,[CuCl,],

Cr(NH,),CuCl,

2

|Cr(NH,)],[CuCl, ],

Cr(NH,),,CuCl,,

4.

Question Number : 153 Question Id : 7512365213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

808 T BSHEWED.

List-1 List - 11
de -1 o - 11
CN
|
A) Melamine ) [CH,-CH=CH-CH,-CH,- CHl
BoFR I BN /N\]/NH—CHZ—_—
Yl
B) Glyptal 1)) N\TN
AS NH

C) Bakelite m) +OCH @00(‘ E COy}

2888 /%
H O-H
CH '
D) Buna-N I\’)&) H, g )‘n

220§9-N
& .
&% V) +CH, CH}

The correct answer 1s
HOGOD HHFGHH B0

Options:

A B c D
v I I V

1.

A B B D
I I 1AY I



Question Number : 154 Question Id : 7512365274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct for amino acids?

A)
B)
)
D)

Amino acids form Zwitter ions.

All naturally occuring amino acids have D-c@slgm'atiou.

Complete hydrolysis of proteins leads to '\Bﬁmmtiml of amino acids.
All o-amino acids are optically active. (1/

AT sired Sowodod §od 3565(&&69_3353 QD?

DS eshren B0ed @o@& D BYBoR000.

4'.%)
B) @88 dgom [SEAloTN @)éﬁbﬁ* esdren D-dargdo §9a eoirom.
C) @&RedH Ff 20d3hn MI0NST NS sire G Eeon.
D) o) 0-d0S wdren §de @rdoste.
Options:

A C
1

B.D

2.

A,

B.C



A B D

Question Number : 155 Question Id : 7512365275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (a) : Antiseptics kill or prevent the growth of microorganisms and are harmful
to human tissues.

Statement (b) : Tincture of 10dine 1s an antiseptic.

DS8ea (a) : airotdDyfen drfHiEHo HoPeron B 8 Db A G0
0000 2D Irdd Emeraroiy R BEEHw.
A58e (b) : OBrES B08)0 wHSH ¥ BrotiDRS.

The correct answer 1s \9
28GR SITTSB0 q/Q
Options:

A
Both (a) and (b) are correct. C)Q/

(a) S08050 (b) en HOFSD. @

1

v
Both (a) and (b) are not %gé

 (a) 308080 (b) e 503 9.

(a) 1s correct but (b) 1s not correct.
(a) S0G0RG 5°Q (b) OTSH sk
=3
(a) 1s not correct but (b) 1s correct.

(a) S0GNRE 7% 5°R (b) DoTSE.

Question Number : 156 Question Id : 7512365276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Find the correct variation for the following compounds with reference to their bond length
and bond energy respectively.

Bob By ¥Tre 208 Bggo 500050 2208 88 020000 JBGS Bordodo SERM ERTIok.

) CH,-F

) CH,-Cl

) CH,-Br

IV) CH,-I

Options:
I<II<II<IV

E=gl 1B= 1 | Bl LY

[<IH<IN<=TV

IV

rl

I>IN>M>1IV

Question Number : 157 Question Id : 751236@7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct order of basicity of oxygen atoms present in the compounds W, X and Y is,

éﬁaéﬁmm W, X 50080 Y 08" &) ez S85rendo 505308 5788] Edokn

Options:

Y>X>W

()

Q

(Y)

0
(X)



2.

X=W=%
=

X>Y>W
4.

Question Number : 158 Question Id : 7512365278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one among the below gives an 1odoform test?

Bob TES’ ORNE FIa0 HOEH I D&:?&

A
@C’@
v



Q/\CHO

Question Number : 159 Question Id : 7512365279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following reaction can not produce benzoic acid?

Bod $8gee* Bow'owns edn JETEIG &7

Options:

: _
CHO 1) Conc. NadH, A
S Qs -
2) H3\x

'

@/CHE‘CHE‘CHa' 1) KMnO,~KOH/A
2) HO

O
I

Q.

Question Number : 160 Question Id : 7512365280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the product ‘P’ i the following sequence of reactions?

Bod FTGESINS® wS¥)Sn P’ 26?
NO,

i) Fe+HCI
@ ii) Br,/H,0
> P
iii) NaNO,. HCI, 273K

iv) H,PO,

Options:

9 &

Br

Br

Br o Br &%
Br

Br OH
Br

1
z.
3



Br

Br

Br



